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General Instructions :

Read the following instructions carefully and follow them :

(1)
(ii)

(iii)

(iv)

(v)

(v1)

This question paper contains 38 questions. All questions are compulsory.

This Question Paper is divided into FIVE Sections — Section A, B, C, D
and E.

In Section—A question number 1 to 18 are Multiple Choice Questions
(MCQ®s) and question number 19 & 20 are Assertion-Reason based
questions of 1 mark each.

In Section—-B question number 21 to 25 are Very Short-Answer-1 (SA-I)
type questions of 2 marks each.

In Section—C question number 26 to 31 are Short Answer-II (SA-II) type
questions carrying 3 marks each.

In Section—-D question number 32 to 35 are Long Answer (LA) type
questions carrying 5 marks each.

(vii) In Section—E question number 36 to 38 are Case Study / Passage based

integrated units of assessment questions carrying 4 marks each. Internal
choice is provided in 2 marks question in each case-study.

(viit) There is no overall choice. However, an internal choice has been provided

(i)

(x)

in 2 questions in Section—-B, 2 questions in Section—C, 2 questions in
Section—-D and 3 question in Section—E.

Draw neat figures wherever required. Take m = % wherever required if

not stated.
Use of calculator is NOT allowed.

SECTION - A
(Multiple Choice Questions)

Section — A consists of 20 questions of 1 mark each.

1. The distance between the points (0, 5) and (-3, 1) is :

A)

©)
30/6/3

8 units (B) 5 units

3 units (D) 25 units
AN Page 3 P.T.O.
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2. qﬁtan9=§§,?ﬁcoseaﬂ'ﬁﬂ%:

X ¥y
@ Jery RS
X ¥y
© T2 RRER
3. WEUE3x2+ 1lx—4HIIF ¢ :
1 -1
A -4 ®B) 354
1 -1
© 34 DM 5-4

4. < gl <l IR T STIIT 4 : 5 8 | kI SIS o1 31UTA T g 2
(A) 16:25 B) 25:16
© 2:45 D) 4:5

5. afe fordl Tk A.P. % U8 n 91 &1 I 3n2 + n 3T IHHT 919 3= 6 7, dl Ig1 Ie
BT
@A 2 B) 3
© 1 D) 4

6. 3Affgamaaguga?+ (a+ 1) x+ b IIH 23MN-3 &, @
A) a=-7,b=-1 B) a=5b=-1
(C) a=2,b=—6 D) a=0,b=—6

7. aﬁp2=%%’ﬂ*p%@5

Q) ot g (B) TI®
(C) ufwawen (D) FfEE g@n
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2. Iftan6= § » then cos 0 is equal to

@A) —,L B) ———
xZ + y2 P ’xz + y2
x y
© [0 O N o
3. The zeroes of the polynomial 3x2+ 11x — 4 are :
1 -1
A) 3 - 4 B) 3 4
1 -1
©) 3 4 D) 30— 4

4. The circumferences of two circles are in the ratio 4 : 5. What is the ratio of
their radii ?
(A 16:25 B) 25:16

©) 2:1/5 D) 4:5

5. If the sum of the first n terms of an A.P be 3nZ + n and its common
difference is 6, then its first term is

A 2 B) 3
© 1 D) 4

6. If the zeroes of the quadratic polynomial 2 + (a + 1) x + b are 2 and -3,

then
A a=-7,b=-1 B) a=5b=-1
(C) a=2,b=-6 D) a=0,b=-6

32
7. Ifp? =50’ then p is a/an

(A) whole number (B) integer

(C) rational number (D) irrational number

30/6/3 AN Page 5 P.T.O.
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11.

12.

afe; T THehIv B1 o 0 Teh = BT &1, i ot 5 o gefieh v A R 2
(A) sin 0 cot 6 =cos 0 B) cosOtan 6 =sin 0O
(C) cosec?0—cot20=1 (D) tan260-—sec?20=1

3x—y= BQﬁFﬁH%@TﬁTy-Q&W%HﬁWW%ﬁ%ﬁ%:
@A) (0,-3) B) (0,3
© 2,0 D) 2,0)

€ TS 3TTRBfr T, Ty C 9Tt 91 W o feig P & PA 3R PB ool Wi S M § | @
QUHIATgR | LAQBHI A -

(A) 62%° (B) 125°
(C) 55° D) 90°

Ife ague 22 — 1 % I o 3B F, dl (o + B) T HH B -
@A 2 @) 1
©) -1 D) 0

afg APQR ~ AABC, PQ = 6 cm, AB = 8 cm 3R AABC &1 uft®g 36 cm &I, d
APQR 1 i BT

(A) 20.25cm B) 27 cm

(C) 48 cm (D) 64 cm

30/6/3 AN Page 6
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8. If 0 is an acute angle of a right angled triangle, then which of the
following equation is not true ?

(A) sin 0O cot6=-cos0 (B) cos6tan 6 =sin 6
(C) cosec?20—cot20=1 (D) tan20-—sec20=1

9. The point of intersection of the line represented by 3x — y = 3 and the
y-axis is given by

A4) (0,-3) ®) (©,3)
©) 2,0 D) 2,0

10. In the given figure, PA and PB are tangents from external point P to a
circle with centre C and Q is any point on the circle. Then the measure of

ZAQB is
A \
P <) ’ Q
B
(A) 62%° B) 125°
(C) 55° D) 90°

11. If o and B are the zeroes of the polynomial x2 — 1, then the value of (o + B) is
A 2 B 1
< -1 D) 0

12. If APQR ~ AABC; PQ = 6 cm, AB = 8 cm and the perimeter of AABC is
36 cm, then the perimeter of APQR is

(A) 20.25cm B) 27 cm
(C) 48 cm (D) 64 cm

30/6/3 AN Page 7 P.T.O.
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13

14.

15.

16.

& ¢ 31hfa #, DE|BC % 1 i AD =3 cm, AB=7 cm 3R EC = 3 cm &, @1 AE

o1 e i -

A) 2cm B) 2.25cm

Toh A A 3P HT TG 21T, Feh TR &1 &% 156 cm? TUT JHEATER HT18 8
cm &,

(A) 2496 cm3 B) 1248 cm3

(C) 1664 cm3 (D) 416 cm?

52 T < U1 Shl TS THR H Hhel T8 TE! 8 Toh T ATgoa AT HehTell ST & | 38 I
%A (face) o1 U1 B 1 TTRrehar &

1
@ 5 ® 13
4 1
© = O 15

A7e ‘p’ ToEma TR 42 — (p + q) x + k = 0 1T qA 7, Al k' 1 HE T

A p B) q
€ p+tq D) pq

30/6/3 AN Page 8
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13. In the given figure, DE|BC. If AD = 3 cm, AB =7 cm and EC = 3 cm, then
the length of AE is

A) 2cm B) 2.25cm
(C) 3.5cm D) 4cm

14. The volume of a right circular cone whose area of the base is 156 cm? and

the vertical height is 8 cm, is
(A) 2496 cm3 (B) 1248 cm3
(C) 1664 cm3 (D) 416 cm?

15. A card is drawn at random from a well shuffled deck of 52 playing cards.
The probability of getting a face card is

1 3
A 3 ® 13

4 1
© 13 D 73

16. If p’ is a root of the quadratic equation x2 — (p + q) x + k = 0, then the
value of 'k’ is

A p B «q
€ p+tq D) pq

30/6/3 AN Page 9 P.T.O.
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17.

18.

19.

20.

&I 3§ 20 foRg 1et &1 Tk &1 T @ 1T 8 3T 38 31 YR firedt feam S 2
I W Th HIE Ao HebTell AT 7 | fehret 7T 1 W wh a9 T foret g i
EIT&I%_dTT;ﬁTﬁ:

9 1
A 17 ® 3

5 7
© 3 D) 75

Wap Tfismr: ax + by = ¢; Ix + my = n T F1 T Afgdfia g g Hvd 7 -

(A) am # Dbl (B) al#bm
(C) al=bm (D) am =Dbl

TR — qeh e U9 : T EEAT 19 AT 20 T T Teh HNIHAA (A) & I¥E
T e (R) e fean 2 | e o 9 =&l faepen g

(A) (A) TIT (R) GHI Tcd & qT (R), 2 (A) Y ST LT 7 |

B) (A) T (R) THI 8¢ &, T (R) YA (A) hl SR T8l & |

(C) (A)TEE, Tg R) FATE R |

D) (A) FE &, J=fh (R) T 2 |

3Tﬁ=IT=B?J=I(A):0<9§90°a5%IQ, cosece—cote3ﬁTcosec9+cot6Q35@a3
SR B |
Tk (R) : cosec2 0 —cot20 =1

aftrwe (A) : AR 5 ++7, iR e oot fETa SRt %1 Uk 4o §, d Eehl
TR 5 —[7 8 |
ek (R) : TR TUTieR! oo TEEma eientor & sheoft gt gt 7wl 9 2 ¢ |
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17.

18.

19.

20.

Cards bearing numbers 3 to 20 are placed in a bag and mixed thoroughly.
A card is taken out of the bag at random. What is the probability that the
number on the card taken out is an even number ?

9 1
A 17 ® 3

5 7
© g D) 7g

The condition for the system of linear equations ax + by =c¢; lx + my =n to
have a unique solution is

(A) am #bl B) al#bm
(C) al=bm (D) am =Dbl

Assertion — Reason Based Questions : In question numbers 19 and 20,
a statement of Assertion (A) is followed by a statement of Reason (R).
Choose the correct option out of the following :

(A) Both Assertion (A) and Reason (R) are true; and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true; but Reason (R) is not the
correct explanation of Assertion (A).

(C) Assertion (A) is true but Reason (R) is false.
(D) Assertion (A) is false but Reason (R) is true.

Statement A (Assertion) : For 0 < 0 < 90°, cosec 6 — cot 0 and
cosec 0 + cot 0 are reciprocal of each other.

Statement R (Reason) : cosec20 —cot20 =1

Statement A (Assertion) : If 5 +\ﬁ is a root of a quadratic equation
with rational co-efficients, then its other root is 5 — \ﬁ .

Statement R (Reason) : Surd roots of a quadratic equation with rational
co-efficients occur in conjugate pairs.

30/6/3 AN Page 11 P.T.O.
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39 @Ug H 31fd TY-3TT (VSA) TR & Y9 & | Tsh T o 2 37 ¢ |

21. 98 31U 1 shitrg e y-3181, f6g3ti (5, — 6) 3TN (-1, — 4) T SIS It WS
S HEATR |

22 (A) @ 7 31mepfd H, ABC s e 8 fsew DE|BC | 9f¢ AD = x, DB =x — 2,
AE=x+ 2 3WEC =x— 1%, dl x I J1d shif9T |

JAYAT
(B) @meis ABCD, fs@d AB|DC 2, % fasuf AC 3R BD w gt &1 fig O W
s w # | aiee B G = oy -
D C
o)
A B

23. (A) gz & foreh oft yreha g 0’ o forw, de 67, 37sh 0 T FuT TE il B |
FrE
(B) 72 37 120 %1 LCM qu1 HCF 3d shifSq |

24. 18 m 39T 910l @Y I Y T ST A1 AGTS 1A hL To G HT I~ B0 0 VAT 8 76
tan9=g 7
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SECTION - B
Section — B consists of Very Short Answer (VSA) type of questions of

2 marks each.

21. Find the ratio in which the y-axis divides the line segment joining the
points (5, — 6) and (-1, — 4).

22. (A) In the given figure, ABC is a triangle in which DE||BC. If AD = x,
DB=x-2,AE=x+ 2 and EC = x— 1, then find the value of x.

(B) Diagonals AC and BD of trapezium ABCD with AB|DC intersect

- 0A_OB
each other at point O. Show that 0C=0D"
D C
0
A B

23. (A) Show that 6™ can not end with digit O for any natural number ‘n’.
OR
(B) Find the LCM and HCF of 72 and 120

24. Find the length of the shadow on the ground of a pole of height 18 m when

6
angle of elevation 0 of the sun is such that tan 0 = h

30/6/3 AN Page 13 P.T.O.
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25

26.

27.

28.

29.

30.

R s B, PA aTelt g P & W e g o) Y 3 3 BC e e g

e W@ PBC ® | 3¢ ZAOC = 130° 8, 91 ZAPB %1 A1 11 shifve, &l O 9w 1

52|
A
130°
Qug - T

30 GUE A -3 (SA) ThR & I & | TAh T & 3 31 & :
forg HIfST : (sin 0 + cos 0) (tan 0 + cot 0) = sec 0 + cosec 0.

(A) T UThd T H! 12 ¥ F@H T H&IT 37094 FashA ¥ 160 THT & STt & | Je
S I |
Jreran
(B) fe fgama aefiertor «2 + 12x — k = 0 1 Th Jo QL S o1 AF AT &1, af k 1
HH AT ST |

% 3TUTA 1A hitg FeH fegati A6, 3) 3R B(-2, —5) ®i e ame W@ies, -318
g ffsa gra 8 |

21 cm 591 % U g1 I T AT, hg T 60° T BV ARG B! & | AT R S TC
Frea @ve &1 8w F1d I | 37 =T i s ot 39 HIif |

@ ¢ 3mpfa H, AB = AC 9T, s "ufgarg By ABC i 9igrs M8 451 CB W frd
E s fag2 | 9af¢ AD L BC 3R EF L AC 2, @ frg ifste o AABD ~ AECF 2 |
A

30/6/3 AN Page 14
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25. In the given figure, PA is a tangent to the circle drawn from the

external point P and PBC is the secant to the circle with BC as diameter.
If ZAOC = 130°, then find the measure of ZAPB, where O is the centre of

the circle.
A
130°
SECTION - C
Section — C consists of Short Answer (SA) type of questions of 3 marks
each.

26. Prove that (sin 0 + cos 0) (tan 0 + cot 0) = sec 0 + cosec 0.

27. (A) A natural number, when increased by 12, equals 160 times its
reciprocal. Find the number.

OR

(B) If one root of the quadratic equation x2 + 12x — k = 0 is thrice the
other root, then find the value of k.

28. Find the ratio in which the line segment joining the points A(6, 3) and
B(-2, —-5) is divided by x-axis.

29. In a circle of radius 21 c¢m, an arc subtends an angle of 60° at the centre.
Find the area of the sector formed by the arc. Also, find the length of the
arc.

30. In the given figure, E is a point on the side CB produced of an isosceles
triangle ABC with AB = AC. If AD 1L BC and EF L AC, then prove that

AABD ~ AECF.
A

=

30/6/3 AN Page 15 P.T.O.
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31. (A) 19y HEe fafr &1 & %k, 26, 65 3R 117 %1 HCF 3tk LCM 31d

I |

YA

B) fog Hif foh /2 v i g 2 |

TUg -9
39 @Us 1§ Se-37F (LA) ThH % I 8 | TAH I % 5 3 8 |
32. (A) TUH A.P. % UUH HId Ui b1 AN 182 2 | I 39 A.P. 1 ST U T 179 U &
39 1: 58 Al A.P. d T |

AU

(B) T A.P. % YUT q Ul T A 63q — 3q2 8 | I 39 A.P. &7 pal ug — 60 &, al

p T U TTd ST | 39 A.P. &7 1141 ug o 71d i |

33. (A) faghifsu fop ferelt o & afra aoir =aqds saegys a2 |

e
B)
S ‘ R
\/ 30°
Q P

& T ATR{T H, TH I W & T W@ PQ 3R PR 39 R oAl & T LRPQ = 30°% |
w9 W@ PQ % FHTR, Uk SfaT RS Tt 18 8 | LRQS o1 01T A HITTT |
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31. (A) Find the HCF and LCM of 26, 65 and 117, using prime factorisation.

OR

(B) Prove that \/5 is an irrational number.

SECTION -D

Section — D consists of Long Answer (LA) type questions of 5 marks each.

32. (A) The sum of first seven terms of an A.P. is 182. If its 4th term and the
17th term are in the ratio 1 : 5, find the A.P.

OR

(B) The sum of first q terms of an A.P. is 63q — 3q2. If its pth term is —60,
find the value of p. Also, find the 11th term of this A.P.

33. (A) Prove that a parallelogram circumscribing a circle is a rhombus.

OR

B)
S R

\/ 30°
Q

P

In the given figure, tangents PQ and PR are drawn to a circle such that
ZRPQ = 30°. A chord RS is drawn parallel to the tangent PQ. Find the
measure of ZRQS.

30/6/3 AN Page 17 P.T.O.
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34. U (99 4 W 250 Tl I Al AT | 39 Wl o W b1 5 e < T8 qlfetept 1 feam
2
‘lTR(‘/TIﬁ) 80 —-100 | 100 —-120| 120 -140 140 — 160 160 — 180
Qe < wE 20 60 70 x 60
() 2 T O T IR TR TT o R T AT T HIFT |
(i) T T FgeTh R off 1a HRC |

35. U 3, Uh A&-TiF I o ITRK &, ST 6T e aret e Aefmel W 3reamifua # |
T <! BISaT 7 cm 3R 3 1 SIS, 3 SATE o SR 3 | 31 T ST TTd 11T |

Qe -

TGS H 3 BT/ Th{UT $ohTS HTHTRA T & | Todeh T3 h 4 3k 2 |

36. e <fari o1 3w At R Cefifas afga T=R Jarsti 6l Ush *F@al sl JHId i
o ToTu fopam SITam 8 | <R 31 @1 T UEAT o &9 § hE hUT I $Heh! HEAT W T AT
37freR WeAT sh1 GHedq T |
3! TG hl AU T, & Wl A 3R B H Teh A L9 e sHM=IT 737 o1 | el Teh
foig O & T g Ewfa ¢ |
(e % TG 3R fog O & o= 1 gl 36 cm 2 | foig O & @ B % Rat &1 37— &0
30° TUTES A o TIRGT 1 3= 1071 45° 2 |

DA
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IBE|4I1 250 apples of a box were weighed and the distribution of masses of the
apples is given in the following table :
Mass (in grams) 80 —100 | 100 —-120 | 120 —140 | 140 — 160 | 160 — 180
Number of apples 20 60 70 x 60
(1) Find the value of x and the mean mass of the apples.
(i1) Find the modal mass of the apples
35. A solid is in the shape of a right-circular cone surmounted on a
hemisphere, the radius of each of them being 7 cm and the height of the
cone is equal to its diameter. Find the volume of the solid.
SECTION - E
3 Case Study Based Questions. Each question is of 4 marks.
36. Radio towers are used for transmitting a range of communication services

30/6/3 AN Page 19 P.T.O.

including radio and television. The tower will either act as an antenna
itself or support one or more antennas on its structure. On a similar
concept, a radio station tower was built in two Sections A and B. Tower is

supported by wires from a point O.

Distance between the base of the tower and point O is 36 cm. From point
O, the angle of elevation of the top of the Section B is 30° and the angle of

elevation of the top of Section A is 45°.
A

‘ P 36 cm O




LIkl
et 5 s, Pt A
() Toig O & @e B o et ae ol TR 1 oS T1d hI |
(i) AB gl T HIfT |
JAYat
AOPB T &% T1d HITTT |

(iii) TR UTe B WS A hl S8 1d hif |

37. “3M3 g’ Th Io ool W GeAT M ATel1 et &, Fores /e 1.3 15 7 forelt 15 71 3R uh
“o] Te” Bl 8, T ST The BI 2 | F&AT 19 15 7 foret 15 71 7 9, 8 3 (R-The)
A 8 o Een 19 8 foredt 8 3 7 arfier ¢ &, S waen 99 15 forefi 2 1

T 1 9 15 forelt qe sl (A1 3 aict) 1 U 98 HeR H STereht e fezm S 7, 31
SITe, H Teh T gl fHehreft STl 2 |
YT T T TR b, Fre o o 3w i
() dwen 8 fore g gF S mRssa R 7 ?
(i) TorepTef) 7T Tie W ek gy g foref) 219 ) wiRehar s g 2
Jera
TorpTeft 178 Tie W 3 w1 o we foret B ST Tkt = R 2
(iii) THeRTet! T8 7 wh 31| T 37 ow we foret 2 ol wifehar = 2 ?
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37.

Based on the above information, answer the following questions :

(1) Find the length of the wire from the point O to the top of Section B. 1
(11) Find the distance AB. 2
OR

Find the area of AOPB.
(111) Find the height of the Section A from the base of the tower. 1

“Eight Ball” is a game played on a pool table with 15 balls numbered
1 to 15 and a “cue ball” that is solid and white. Of the 15 numbered balls,
eight are solid (non-white) coloured and numbered 1 to 8 and seven are
striped balls numbered 9 to 15.

The 15 numbered pool balls (no cue ball) are placed in a large bowl and

mixed, then one ball is drawn out at random.

Based on the above information, answer the following questions :

(1) What is the probability that the drawn ball bears number 8 ?

(11) What is the probability that the drawn ball bears an even number ?
OR

What is the probability that the drawn ball bears a number, which is
a multiple of 3 ?

(111) What is the probability that the drawn ball is a solid coloured and

bears an even number ?

30/6/3 AN Page 21 P.T.O.
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38. TfUrd T Uk shIfeT GEUM @ =il I 3T 11 H ¢ Feifeld shial 8 3T 1R 31t e

A 1 B FAT-31 Bl 7 | 9= [ H 20 e 3R 5 30fR 9= &, Fafh o= 11 8
5 T 3T 25 3R w= 8 | 99 1 9 6 1 por q1fdeh |uE T 9000 B IR S [ 3
26,000 7 | A SAfT 76 weieh e s T« Ui 6TE 1 A shal g 3T T
3THR &= % y Wil 18 1 A Ll 3 |

I G2 % SR R, 7 w1 % e e
(i) U FIT I x IRy T e HIT |
(i) I TR S= GRI 9 H1E T i aTei] HIF [1d g |
Jrera
T TS 3TR Teh 3THR = 61 T A8 1 61 1 TR F1q HIT |

(i) Ife = IId, 10 The 3R 20 3nfi 5= &, o 39 s= 9 ufq e oot 615 ufy
T BT ?
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38. A coaching institute of Mathematics conducts classes in two batches I and

IT and fees for rich and poor children are different. In batch I, there are 20
poor and 5 rich children, whereas in batch II, there are 5 poor and 25 rich
children. The total monthly collection of fees from batch I is ¥ 9000 and
from batch II is ¥ 26,000. Assume that each poor child pays ¥ x per month
and each rich child pays T y per month.

Based on the above information, answer the following questions :
(1) Represent the information given above in terms of x and y.
(i1) Find the monthly fee paid by a poor child.

OR

Find the difference in the monthly fee paid by a poor child and a rich
child.

(ii1) If there are 10 poor and 20 rich children in batch II, what is the total

monthly collection of fees from batch II ?
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Marking Scheme
Strictly Confidential
(For Internal and Restricted use only)
Secondary School Examination, 2023
MATHEMATICS PAPER CODE 30/6/3

General Instructions: -

1

You are aware that evaluation is the most important process in the actual and correct
assessment of the candidates. A small mistake in evaluation may lead to serious problems
which may affect the future of the candidates, education system and teaching profession. To
avoid mistakes, it is requested that before starting evaluation, you must read and understand
the spot evaluation guidelines carefully.

“Evaluation policy is a confidential policy as it is related to the confidentiality of the
examinations conducted, Evaluation done and several other aspects. Its’ leakage to
public in any manner could lead to derailment of the examination system and affect the
life and future of millions of candidates. Sharing this policy/document to anyone,
publishing in any magazine and printing in News Paper/Website etc may invite action
under various rules of the Board and IPC.”

Evaluation is to be done as per instructions provided in the Marking Scheme. It should not
be done according to one’s own interpretation or any other consideration. Marking Scheme
should be strictly adhered to and religiously followed. However, while evaluating, answers
which are based on latest information or knowledge and/or are innovative, they may be
assessed for their correctness otherwise and due marks be awarded to them.

The Marking scheme carries only suggested value points for the answers.

These are in the nature of Guidelines only and do not constitute the complete answer. The
students can have their own expression and if the expression is correct, the due marks should
be awarded accordingly.

The Head-Examiner must go through the first five answer books evaluated by each evaluator
on the first day, to ensure that evaluation has been carried out as per the instructions given
in the Marking Scheme. If there is any variation, the same should be zero after deliberation
and discussion. The remaining answer books meant for evaluation shall be given only after
ensuring that there is no significant variation in the marking of individual evaluators.

Evaluators will mark ( V') wherever answer is correct. For wrong answer CROSS X" be
marked. Evaluators will not put right (v') while evaluating which gives an impression that
answer is correct and no marks are awarded. This is most common mistake which
evaluators are committing.

If a question has parts, please award marks on the right-hand side for each part. Marks
awarded for different parts of the question should then be totaled up and written in the left-
hand margin and encircled. This may be followed strictly.

If a question does not have any parts, marks must be awarded in the left-hand margin and
encircled. This may also be followed strictly.
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In Q1-020, if a candidate attempts the question more than once (without canceling the previous
attempt), marks shall be awarded for the first attempt only and the other answer scored out
with a note “Extra Question”.

10

In 021-038, if a student has attempted an extra question, answer of the question deserving
more marks should be retained and the other answer scored out with a note “Extra Question”.

11

No marks to be deducted for the cumulative effect of an error. It should be penalized only once.

12

A full scale of marks (example 0 to 80/70/60/50/40/30 marks as given in
Question Paper) has to be used. Please do not hesitate to award full marks if the answer
deserves it.

13

Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours
every day and evaluate 20 answer books per day in main subjects and 25 answer books per
day in other subjects (Details are given in Spot Guidelines).This is in view of the reduced
syllabus and number of questions in question paper.

14

Ensure that you do not make the following common types of errors committed by the
Examiner in the past:-

e Leaving answer or part thereof unassessed in an answer book.

Giving more marks for an answer than assigned to it.

Wrong totaling of marks awarded on an answer.

Wrong transfer of marks from the inside pages of the answer book to the title page.
Wrong question wise totaling on the title page.

Wrong totaling of marks of the two columns on the title page.

Wrong grand total.

Marks in words and figures not tallying/not same.

Wrong transfer of marks from the answer book to online award list.

Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is
correctly and clearly indicated. It should merely be a line. Same is with the X for
incorrect answer.)

e Half or a part of answer marked correct and the rest as wrong, but no marks awarded.

15

While evaluating the answer books if the answer is found to be totally incorrect, it should be
marked as cross (X) and awarded zero (0)Marks.

16

Any un assessed portion, non-carrying over of marks to the title page, or totaling error
detected by the candidate shall damage the prestige of all the personnel engaged in the
evaluation work as also of the Board. Hence, in order to uphold the prestige of all concerned,
it is again reiterated that the instructions be followed meticulously and judiciously.

17

The Examiners should acquaint themselves with the guidelines given in the “Guidelines for
spot Evaluation” before starting the actual evaluation.

18

Every Examiner shall also ensure that all the answers are evaluated, marks carried over to
the title page, correctly totaled and written in figures and words.

19

The candidates are entitled to obtain photocopy of the Answer Book on request on payment
of the prescribed processing fee. All Examiners/Additional Head Examiners/Head
Examiners are once again reminded that they must ensure that evaluation is carried out
strictly as per value points for each answer as given in the Marking Scheme.
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MARKING SCHEME
MATHEMATICS (Subject Code-041)
(PAPER CODE: 30/6/3)

Q. No. EXPECTED OUTCOMES/VALUE POINTS Marks
SECTION A
Questions no. 1 to 18 are multiple choice questions (MCQs) and questions
number 19 and 20 are Assertion-Reason based questions of 1 mark each
1. The distance between the points (0, 5) and (-3, 1) is :
(A) 8 units (B) 5 units
(C) 3 units (D) 25 units
Sol. (B) 5 units 1
2. Iftan 0 =f: then cos 0 is equal to
. x \ ¥
(.J-‘l} '\"Ixz + )‘2 {B) A'ql xz + }_2
x i
© e R
Sol. (B) =2—= 1
3 The zeroes of the polynomial 3x% + 11x— 4 are :
1 =1
A) 3,—4 B) 3,4
1 =1
© 3,4 D) 3,—4
Sol. 1 1
Ay, -4
4. The circumferences of two circles are in the ratio 4 : 5. What is the ratio of
their radii ?
(A) 16:25 B) 25:16
© 2:4/5 M) 4:5
Sol. (D)4:5 1
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If the sum of the first n terms of an A.P be 3n2 + n and its common

difference is 6, then its first term is

@ 2 B) 3
© 1 D) 4
Sol. (D) 4
6. If the zeroes of the quadratic polynomial 2% + (a + 1) x + b are 2 and -3,
then
Ay a=-T,b=-1 B) a=5Db=-1
(C) a=2,b=-6 M) a=0,b=-6
Sol. (D)a=0,b=-6
. 32 .
7 Ifp2= 50’ then p 1s a/an
(A) whole number (B) integer
(C) rational number (D) irrational number
Sol. (C) rational
8. If 8 is an acute angle of a right angled triangle, then which of the
following equation is not true ?
(A) sin0Ocot 0 =cos0 (B) cosOtan0=sin 0
(C) cosec?B—cot20=1 D) tan20 —sec?0=1
Sol. (D) tan? - sec2 6 =1
9. The point of intersection of the line represented by 3x — y = 3 and the
y-axis is given by
@A) 0,-3) ®) (0, 3)
© 2,0 D) 2,0
Sol. (A) (0,-3)
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10.

In the given figure, PA and PB are tangents from external point P to a
circle with centre C and Q is any point on the circle. Then the measure of

ZAQB is

(A) 62%° (B) 125°
(C) 55° D) 90°
Sol. °
(A) 62
11. If o and B are the zeroes of the polynomial x2 — 1, then the value of (o0 + B) is
A 2 B 1
<€ -1 @ 0
Sol. (D)0
12. If APQR ~ AABC; PQ = 6 cm, AB = 8 cm and the perimeter of AABC is
36 c¢m, then the perimeter of APQR is
(A) 20.25cm (B) 27 cm
(C) 48 cm (D) 64 cm
Sol. (B) 27 cm
13. In the given figure, DE|BC. If AD = 3 cm, AB =7 cm and EC = 3 cm, then
the length of AE is
A
/ 7
&
S
B
(A) 2cm (B) 2.25cm
(C) 3.5cm D) 4cm
Sol. (B) 2:25cm
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14.

The volume of a right circular cone whose area of the base is 156 cm? and

the vertical height is 8 cm, is

(A) 2496 cm3 (B) 1248 cm3
(C) 1664 cm3 (D) 416 cm?
Sol. (D) 416 cm3
15. , - .
A card is drawn at random from a well shuffled deck of 52 playing cards.
The probability of getting a face card is
1 3
@ 3 ® 13
4 1
© 73 ™ 73
Sol. 3
(B) 3
16. If p’ is a root of the quadratic equation x2 — (p + q) x + k = 0, then the
value of k' 1s
@A) p B) «a
© ptq D) pa
Sol. (D) paq
17. Cards bearing numbers 3 to 20 are placed in a bag and mixed thoroughly.
A card is taken out of the bag at random. What is the probability that the
number on the card taken out is an even number ?
9 1
@ 5 ® 3
b 7
© 3 ® 15
Sol. 1
®) 2
18. The condition for the system of linear equations ax + by = ¢; Ix + my = n to
have a unique solution is
(A) am #bl (B) al=bm
(C) al=bm (D) am =bhl
Sol. (A) am = bl
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Assertion — Reason Based Questions : In question numbers 19 and 20,
a statement of Assertion (A) is followed by a statement of Reason (R).
Choose the correct option out of the following :

(A) Both Assertion (A) and Reason (R) are true; and Reason (R) is the

correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true; but Reason (R) is not the
correct explanation of Assertion (A).

(C) Assertion (A) is true but Reason (R) is false.
(D) Assertion (A) is false but Reason (R) 1s true.

19. Statement A (Assertion) : For 0 < 0 < 90° cosec 0 — cot O and
cosec 0 + cot 0 are reciprocal of each other.
Statement R (Reason) : cosec20 —cot20=1
Sol. (A)
20. _ _ '
Statement A (Assertion) : If 5 +\ﬁ is a root of a quadratic equation
with rational co-efficients, then its other root is 5 — \ﬁ .
Statement R (Reason) : Surd roots of a quadratic equation with rational
co-efficients occur in conjugate pairs.
Sol. (A)
SECTION -B
Section — B consists of Very Short Answer (VSA) type of questions of
2 marks each.
21. Find the ratio in which the y-axis divides the line segment joining the
points (5, — 6) and (-1, — 4).
Sol. k:1
A(5;—6} ® B{@1,—4)
P

Let P(0, y) be the point on y axis which divides AB in the ratio k: 1

-k+5
°_0 =k=5
k+1

N =
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Ratiois5:1

N | =

22(A).

In the given figure, ABC is a triangle in which DE|BC. If AD = x,
DB=x—-2,AE=x+ 2 and EC =x— 1, then find the value of x.

Sol.

In A ABC, DE || BC

AD _ AE x _x+2

DB EC x-2 x-1
X(x-1)=(x+2)(x-2)
2_x=x%-4 =>x=4

X

OR

22(B).

Diagonals AC and BD of trapezium ABCD with AB||DC intersect
OA OB

£

each other at point O. Show that OC=0D"
D C

A B

Sol.

In A AOB and A COD,
Z0AB=20CD
Z0BA=20DC

Therefore, A AOB ~ A COD

. 0A _OB
“oc” op
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23(A). Show that 6™ can not end with digit O for any natural number ‘n’.
' endas wi 121t U, 1t wou e dlvisiple .00, prime ractorization o
Sol If 6" ends with digit 0, it would be divisible by 5. So, prime factorization of
6" would contain 5. But 6" = (2 x 3)", the only prime factorization of 6"
are 2 and 3 as per fundamental theorem of Arithmetic . There is no other
prime in the factorization of 6". So, there is no natural number n for which
6" ends with digit zero. 2
OR
23(B)- | Find the LCM and HCF of 72 and 120
Sol. 72=23X 32
120=23X3 X5
HCF = 24 1
LCM=360 1
24. Find the length of the shadow on the ground of a pole of height 18 m when
angle of elevation 9 of the sun is such that tan 6 = g -
Sol. Pole of height AB =18 m
AP = length of shadow 1
18
8 In A APB,tan 6 = —
AP
6_18 1
7 AP 7
=AP=21m 1
2
P A
25. In the given figure, PA is a tangent to the circle drawn from the
external point P and PBC is the secant to the circle with BC as diameter.
If ZAOC = 130°, then find the measure of ZAPB, where O is the centre of
the circle.
A
130°
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1
Sol. 1, AOB = 180° — 30° = 50° >
Z OAP =90° 1
~/ APB = 180 — (50° + 90°) = 40° 1
SECTION C
This section comprises of Short Answer (SA) type questions of 3 marks
each.
26. Prove that (sin 6 + cos 0) (tan 6 + cot 6) = sec 6 + cosec 6.
Sol. . sin 6 cos 6
LHS = (sin 6 + cos 9)(C050 + Sine) 1
. sin? @ + cos? @
B (Sm 9+ cos 9)( cos 8 sin 8 ) 1
_ (sin 6 + cos 0) .(1)
B cos 6 sin 0 1
2
=sec 0 + cosec 6 = RHS 1
2
27(A). A natural number, when increased by 12, equals 160 times its
reciprocal. Find the number.
Sol. Let the natural number be x
160 1
ATQ, x+12=—
X
X2 +12x = 160
X2 +12x— 160 =0 1
(x+20)(x-8)=0
X#—-20,%x=8 1
10
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= Required natural number is 8

OR
27(B).
(B) If one root of the quadratic equation x% + 12x — k = 0 is thrice the
other root, then find the value of k.
Sol.
x2+12x—k=0
Let the roots be o, 3a
1
2
at+t3a=-12 = a=-3
1
a.30=-k =3a2=-k 1
=k=-27 1
2
28. . .. : . . .
Find the ratio in which the line segment joining the points A(6, 3) and
B(-2, —5) is divided by x-axis.
Sol. Let P(x, 0) be the point on x axis which divides AB in the ratio k: 1 L
A(6.3) k.: 1 Br2-9 2
-5k+3 3
=0=k=- P 2
k+1 5
Ratiois3:5 1
2
29. In a circle of radius 21 cm, an arc subtends an angle of 60° at the centre.
Find the area of the sector formed by the arc. Also, find the length of the
arc.
Sol. | A== x 2 x21 x 21 =231 cm? =
360 7
2
Length of arc =2 x2xZx21
360 7
=22cm 12
2
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30.

In the given figure, E is a point on the side CB produced of an isosceles
triangle ABC with AB = AC. If AD 1 BC and EF L AC, then prove that

AABD ~ AECEF. \

=]

E B D C

Sol.

Given ABC is an isosceles triangle, . AB = AC = 4B = «C
In A ABD and A ECF,

2 ADB = Z EFC (90° each, given)

Z ABD = Z ECF

~ A ABD ~ A ECF

31(A).

Find the HCF and LCM of 26, 65 and 117, using prime factorisation.

Sol.

26=13x2

65=13x5

117=13x3x3

~ HCF =13
LCM=13x2x3x5x3=1170

J

OR

31(B).

Prove that \/5 is an irrational number.

Sol.

Let V2 be a rational number.

A2 = E, where q#0 and let p & q be co-primes.

2q? = p? = p?is divisible by 2 = p is divisible by 2

= p = 23, where ‘@’ is some integer = ----- (1)

4a2 = 292 = g% = 2a2 =q?is divisible by 2 = q is divisible by 2
= q = 2b, where ‘b’ is some integer =~ ----- (i)

(i) and (ii) leads to contradiction as ‘p’ and ‘q’ are co-primes.
~.4/2 is an irrational number.

Y2

Y2

SECTION D
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This section comprises of Long Answer (LA) type questions of 5 marks
each.
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32(4). The sum of first seven terms of an A.P. is 182. If its 4th term and the
17th term are in the ratio 1 : 5, find the A.P.
Sol. Let a be the first term and d be the common difference.
7
S, =182 == (2a+ 6d) = 182 1
2
182 X 2
= 2a+6d= =52
a+3d = 26 - (i) 1
1 +3d 1
= 2T -0 53+ 15d=a+ 16d 1
a; 5 a+l16d 5
da=d ---—----- (i) 1
2
Solving (i) and (ii)
a=2and d=8 1,1
2 2
~APis 2,10, 18, 26, .... 1
2
OR
32(B). )
The sum of first q terms of an A.P. is 63q — 3q2. If its pth term is —60,
find the value of p. Also, find the 11th term of this A.P.
Sol. 2
Sg =639 —3q
13




#$;=60 = a; =60 (1% term)

S, =63(2) - 3(2)° = 126 - 12 = 114

a+ta,=114 = a,=114-60=54 1
d=a,-a;=54-60=-6 1
ay=- 60
60 + (p—1)d=-60
(p-1)(-6)=-120 =>p=21 1
1
a;y=a+10d=60+10(-6)=0
33(A). Prove that a parallelogram circumsecribing a circle is a rhombus.
Sol. ABCD is a parallelogram touching the circle at P, Q, R, S by sides
AB, BC, CD, DA respectively.
1 for
correct
figure

-+

A P 8

We know that tangents drawn from the external point to a circle are
equal.
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CR=CQ - (1) 5
DR=DS W - (iv)
Adding (i), (ii), (iii), (iv)
(AP + PB) + (CR + DR) = (AS + DS) + (BQ + CQ) 1
AB +CD =AD +BC
ABCD is a parallelogram 1
=AB = CD, AD = BC 2
=2AB =2AD = AB=AD
1
= ABCD is a rhombus. 2
OR
33(B)
(B)
S R
30°
|J
Q
In the given figure, tangents PQ and PR are drawn to a circle such that
ZRPQ = 30°. A chord RS is drawn parallel to the tangent PQ. Find the
measure of Z/RQS.
15




Sol.

PQ = PR (tangents drawn from an external point to the circle )

« Z/PQR = / PRQ
1
In APQR, £ PQR = £ PRQ =~ (180° — 30°) = 75°
Draw a perpendicular QL from Q to QP 1
o PNA
Now, ~ PQL = 90° " o
8 P
~/ RQL =90° — 75° = 15° 1
ARQL = A SQL (SAS) .
» ZRQL =/ SQL = 15°
s~ Z RQS =15° + 15° = 30° 1
34. 250 apples of a box were weighed and the distribution of masses of the
apples is given in the following table :
Mass (in grams) 80—100 | 100—-120 | 120 -140 | 140 - 160 | 160 — 180
Number of apples 20 60 70 x 60
(1) Find the value of x and the mean mass of the apples. 3
(11) Find the modal mass of the apples 2
Sol. 1 ()20 + 60 + 70 + x + 60 = 250
1
x=250-210=40
Mass 80-100 |[100-120|120-140| 140-160 | 160 - 180 | Total
No. of 250
apples fi 20 60 70 x =40 60
Xj 90 110 130 150 170 1 for
. 33700 correct
Xil 1800 6600 9100 6000 10200 table
Mean mass = o = 134-8 1

250
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Mean mass = 134.8 g

(i1) Modal class = 120-140

(70 - 60)
(140 - 60 - 40)

Mode =120 + x 20

=125

Hence modal mass = 125 g

N =

35.

A solid is in the shape of a right-circular cone surmounted on a
hemisphere, the radius of each of them being 7 ecm and the height of the

cone is equal to its diameter. Find the volume of the solid.

Sol.

Radius of cone = radius of hemisphere =7 cm
~Height of cone = 14 cm

Volume of solid = Volume of hemisphere + volume of cone
_2 3,1 2
= §n’(7) + 571(7) 14

1 22
:§X7X7X7(14+14)

154 4312
= X28=—+ cm? or 1437.33 cm?

1

1

12412

2

2

SECTION E

This section comprises of 3 case-study based questions of 4 marks each.
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36.

Radio towers are used for transmitting a range of communication services
including radio and television. The tower will either act as an antenna
itself or support one or more antennas on its structure. On a similar
concept, a radio station tower was built in two Sections A and B. Tower 1s

supported by wires from a point O.

Distance between the base of the tower and point O iz 36 cm. From point
0, the angle of elevation of the top of the Section B is 30° and the angle of

elevation of the top of Section A is 45°.

A

P 36em O
Based on the above information, answer the following questions :
(i) Find the length of the wire from the point O to the top of Section B.
(i1) Find the distance AB.
OR
Find the area of AOPB.

(iii) Find the height of the Section A from the base of the tower.

Sol.

() InAOBP,cos30°=2
OB

V3 _36 _72
2 " oB :OB_\E
=24+/3 cm

N| =

N| =
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-- o_FB _36
(i)In A OBP, tan 30° = e = PB = NG
PB=12V3
1
In A OAP, tan 45° =22 = AP =36 cm
1
AB = AP - PB =36 — 123 = 12(3-+/3) cm 2
2
OR
(ii)Area of A OPB == x OP x PB
=% X 36 x 12v/3 = 216v/3 cm?
1+1
(i) AP =36cm
1
19
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37.

“Eight Ball” is a game played on a pool table with 15 balls numbered
1 to 15 and a “cue ball” that is solid and white. Of the 15 numbered balls,
eight are solid (non-white) coloured and numbered 1 to 8 and seven are
striped balls numbered 9 to 15.

The 15 numbered pool balls (no cue ball) are placed in a large bowl and

mixed, then one ball is drawn out at random.

Based on the above information, answer the following questions :

(i)  What is the probability that the drawn ball bears number 8 ?

(i1) What is the probability that the drawn ball bears an even number ?
OR

What is the probability that the drawn ball bears a number, which is

a multiple of 3 ?

(iii) What is the probability that the drawn ball is a solid coloured and

bears an even number ?

Sol.

()P (drawing ball bearing number 8) = % 1
(ii)Even numbers = 2, 4, 6, 8, 10, 12, 14 >
No. of favourable outcomes = 7
_ 7
P (even number) = = 1%
OR
.. . 1
(i)Multiples of 3 are 3,6, 9, 12, 15 2
No. of favourable outcomes =5
20
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 P(multiple of 3) = = =~

1

(iii) Solid colour and even number 2, 4, 6, 8

. 4
P(solid colour and bear an even no.) = =

38.

™

A coaching institute of Mathematics conducts classes in two batches I and
IT and fees for rich and poor children are different. In batch I, there are 20
poor and 5 rich children, whereas in batch 11, there are 5 poor and 25 rich
children. The total monthly collection of fees from batch I is ¥ 9000 and
from batch II is ¥ 26,000. Assume that each poor child pays ¥ x per month

and each rich child pays T y per month.

Based on the above information, answer the following questions :
(1) Represent the information given above in terms of x and y.
(i) Find the monthly fee paid by a poor child.

OR

Find the difference in the monthly fee paid by a poor child and a rich
child.

(i11) If there are 10 poor and 20 rich children in batch II, what is the total

monthly collection of fees from batch IT ?

Sol.

(i)20x + 5y = 9000

5x + 25y = 26000

MS_X_Mathematics_041_30/6/3_2022-23

21




(i1)Solving the equations x = 200, y = 1000
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Monthly fee paid by poor child = 2200 2
OR
(i) getting x=200 and y= 1000 14=
Difference in the fee = 1000 — 200 = X 800 1
(iii)10x + 20y = 10(200) + 20(1000) 2
=X22000 1
22
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